Homework Assignment 7

(Due Apr. 1% at the beginning of the class)

1. [Timing Analysis, 10 points] The following shows the delay of each net and cell.
Compute arrival time at each node (n1 ~ n12, Out 0 ~ Out 3) shown below. Arrival time
at each input pin is zero.
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[Timing Analysis, 10 points] The following shows the delay of each net and cell and the
required time at each output. Compute required time at each node (n1 ~n12, In0 ~ In 3).

In0 =

In2

In3

1 n8  39ps
86ps A 32ps , 22ps s4ps p—————{I> Out 0
n 3
RT:1200ps
16ps 9’15-/ 63ps p
175ps 17
" 18ps n10 25ps
75 ps 116ps p——2—[> Out 1
31ps RT:1150ps
119ps T —14ps
n11 a2ps
91ps .| 97ps [ Out 2

w 95p3 RT: 1000ps
154ps P08
T8ps 66ps %. k‘ 82ps 12 48ps Out 3
RT:980ps
Required time Required time
nl n9
n2 nl1o0
n3 nll
n4 nl2
n5 in0
n6 inl
n7 In2
n8 In3




